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Quiz 13
You must show all work to receive full credit!!

Problem 1. (3 pts) Let V(z,y, z) = zysin(yz) and F = VV. Evaluate /F - ds, where
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c is any path from (0,0,0) to (2,1, 7).

Since F has Fcftn*‘ﬁd Lunchion Vv, i+ is conservative , so

fz F.d2= V(2,%,7) - V(o,¢,0)
= (D(3)sing - ©

e

:Q“)

Problem 2. (7 pts) Calculate / / zdS where the surface S is the portion of the cylinder

S
y=9—22where 0 <z <3,0< 2<3. (Hint: write a parametrization for S which
depends on the variables z and z.)

A parametrizabion for S is  G(xz) = (X,9-2% 2), for 04X£3, 0L223
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. “"3 & scalar surface }nkgmf, we caleulate A= \’ 1t+422,
Then S‘S‘S 2dS
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